Lycee Des Arts Mathematics 9h-Grade
Name: ......... Square roots A.S-3

1- Find the squares of the real numbers:

The real numbers| 3 | -5 | 4| -2 (-1.1/0|1.2| 7
Their squares

a. Can you find a real number in which its square is negative? ................ccoeeveevennnnn..
B. What do YOU NOTICE? ...ttt e
2- Complete the following table:

1%t - couple | 2"-couple | 3™-couple

Numbers 2 2 l —1 a a
B 5 5

Their squares

a. What do you notice about the squares of the above opposite numbers?

...............................................................................................................

b. Generalize what you have fOUNd: ... i e,

3- Find the real numbers whose squares are presented in the following table:

Numbers 0 1 100 | 3600 | 0.09 | 0.0016
Square 2 2
-1 +1
form =D D
Sign of base -ve +ve

4- Remember that:

~-1&+1 | jsequal | 1 then —1&+1 | arecalled the 1
7&+7 to 49 —7 & +7 | square roots of | 49

Since the square of

What is a radical?

Eg: Compute the following:
- Radical(12])=................ - Radical(81)=................

- Radical(225)=............... - Radical(49)=................
Instead of writing radical (25) we can use the symbol, /25 or simply /25.

« radical sign

Terminology: " 3/a. s Where a is any positive real number
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t%Calculate the following:

v J16=............ v (16)%
v 25 =, % (25)%
v J6h=..... % (64)2

a) What do you notice? ...................

Q{>Correct the following false statements:

a) A non-zero real number admits two square roots
b) To find the square root of a number, we divide it by 2

C) 2isthe square ro0t OF -4. ... i e

5- Consider the table below:

Compute the numerical value of

For x=1

For x=0

For x=3

For x=5

A=./(x—-2)

6- Based on the above example find:

a. \/(7[ - 2)2 =

b.

c. Study the simplified form of:

7- Use a calculator to compare:

No. Expressions

Answer

Generalization

Condition(s)

a | J3x+/2 V3x2

and

Jaxb= ...

V3

NG 2

3

b and

Ja

e

Use a calculator to compute:

No. Expressions

Answer

Generalization

Condition(s)

a

32 +5+4/2

b 2\3-72

C

342 (- 245)

Reminder:
s Compute: (3+5) =
Q{>Calculate:

Valuesof a & b

Va? +b?

Compare: a’+b? & \/¥+\/F

a=1&b=1

a=5&b=-4

a=4&b=5

Q>What O YOU NOTICE? . ..ottt

W IS it true that: ~aED <A VD2 oo
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9- Find the term (factor), that if multiplied by the given term (factor) the radical will be

eliminated:
No. Term Its conjugate | Product of the term by its conjugate
1 J2 2
2 3./5 15
3 | 3J/2-243 18 — 12
4 25 +1 20 -1
s | 23
10-  Eliminate the radical from the denominator of: (Rationalize)
B
-5
b 1++/5
" 1-45
3 3-24/5
- —1-45

11- Giventhat: a=7

a. Frame (enclose) abetween two consecutive squared numbers.

...........................................................................

12- Letb=1+32

a. Bound ~/2 between two integers. Show your work.

...........................................................................

...........................................................................

...........................................................................
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